Series B
EAG228A

l. Consider the following

: Wi
appropriate answer:

State
Meny on |'C‘d¢lﬂ]l\t“ and sclect the most

1. Federalism s g gy,
THEM of pavn .

between a central authog, BOVernment p which the power is divided
v

OVernn
Nt enjoys
b, TOwe -y
(A) s true but gy g fals POWer i Federalism.
S false

(B) Both 1 and )
(C) Both i and

k.8 'lnll £ . - o ’
1. Only central g ' Yanous constituent units of the country,

are trye

l’”Q f"‘lsc
(D) iis false bur IS trye

(B) i 3R i 2= wh ¥
(€) i 3 i N =y
(D) i T ? W i e R

rd

Consider the three statements on Democracy.

i. Only leaders elected by pcople should rule the country.

1. People have the freedom to express views, freedom to organize and
freedom to protest.

1. Democracy has spread evenly in all parts of the world.
Of the above given statements, the following arc true

(A) 1. 11 and i

(B) 1 and ii

(C) 11 and 1ii

(D) 1 and 1
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EA6238A Series B
ArFaa W A T waA w i A

i, A ® U AT faaw e a, wnfan oy e faa @t T
#1

iii. fama @ Wh =R § oA o R e B
Fw fou w0 A fFefafas w6 2
(A) i, ii 3 i
(B) i 3 i
(C) ii 3 iii
(D) i 3R iii
3. The following is not enshrined as a valuc in the Constitution of
India :
(A) Liberty
(B) Fraternity
(C) Social Justice

(D) Feudalism

W @ HfauE ¥ Feafaie 1 et w6 2
(A) “Faadl

(B) =

(C) wrferE =

(D) €E=are
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serfes B

v omeney B s g
Wivey |
"
(AY Raiva Sabha

(1) Lok Nabha

(Y loant Sitinmg o
the Patliaimem

) : .
() First in Rajya Sabha and then Lok Sabha

faer fada a) Yy fay W @
(A) TS A
(B) @ @ W

(C) @82 @ wgen s 3

(D) WERA U owW N ww faw s wwn A

The Tropic of Cancer passes through
(A) Meghalaya

(B) Odisha

(C) Tripura

(D)  Arunachal Pradesh

Yo Al #
(A) e A

(B) 3ifem A

(€) faga A

(D) A wew A
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p:A""A Series B

Oxford Lnpversity has recently introduce the following gcndcr-ng,-u".l

“
reduce discrimination

pronoun o

(A It
() X
(Cy Z¢
(D) 1

st yd gfAfA F v B A7 S v Y T wER A fan o e A wEEm AR
A o ®, am R

(A) % (I)
() vaa (X)
(C) W (Ze)
(D) & (1)

B Following 1s a non-cxample of a plant fiber crop :
(A) silk
(B) jute
(C') cotton

(D) flax
frfafea % & wew 77 @1 gzwem = 2
(A) oW

(B) 9zas
(C) @
(D) 3=
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Series B FA6G228A
K Arrange the layers of the atmosphere in an ascending order based on their
proximity 1o the carth,
(A) thermosphere, stratosphere, exosphere, mesosphere, troposphere
(13)  mesosphere, stratosphere, troposphere, exosphere, thermosphere
(C)  troposphere, stratosphere, mesosphere, thermosphere, exosphere
(D) stratosphere, troposphere, mesosphere, thermosphere, exosphere
L R R T L R R e R R T I gy
(A) AWIAHEE, e, afetea, wowea, e see
(B)  WUHIA, [0amwea, sy ajger, afisdtea ATRTAGH T
(C) B WS, A, Ao, g, aftdes
(1)) AT, alW H{we, o, argraygnes, aftdaa
0. Removing barriers and restrictions related to trade and commerce by the
povernment s known as
(A)Y  Globahisation
(13)  Privatusation
(C)  Nationahisation
(D) Liberalisation
WAR R AR v afis woEane e siE v afem a) wed @) we s
B3
(A) At
(B) fsitamm
(C)  asglaa
(D) Je@aam
7
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EA62Z8A Series B

10,  Currency notes on behalf of the Centra) government in India are issued
by :

(A) Export-Import Bank of India
(B) Reserve Bank of India
(C) State Bank of India

(D) World Bank

WA W @7 TWER B H2 o
(A) W e - sme 3w

(B) v g 4=

(C) ¥rdm "T 4w

(D) fama 4=

11. The following inputs were required for Green Revolution :
(A) well-developed system of irrigation
(B) HYYV seceds
(C) chemical fertilizers and pesticides

(D) All of the above

e wify @ foe f=fakes o smawes 93
(A) foar = faefam womet

(B) @ d 9w

(C) Twmfte @e 3R FeawE

(D) 3I9gw wh
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12. The following activity will not be included while calculating GOP in
India :

(A) engineer working at g construction site
(B) father teaching Economics to his son
(C) farmer growing wheat for selling in the market

(D) a street vendor selling mangoces

mi‘mﬁama&mw&gﬁmﬁﬁwmmﬁawﬁﬁ:&:
(A) & B =8 ¥ wrkeg s

(B) 3% T3 & foex werr fran

(€) TR F A & faw W o fraw

(D) 3™ A= vw fa@en

13. Demonetisation refers to

(A) limiting the amount that can be withdrawn by an individual from the
bank to Rs. 24000 a week

(B) stripping the currency of its status as a legal tender
(C) replacing old Rs. 500 notes with new notes

(D) encouraging the use of debit cards, credit cards and online apps such
as Paytm and eBuddy

fardao 2 -
(A) wmﬁ-ﬁmﬂa%ﬁméaﬁaﬁnﬁraﬁzmuouﬁmm
HqET ww =

(B) T&1 @ o=@ qw sEw A wlw w4
(C) T 500 *rd & FA = 7w AN ¥ =W I

(D) 3T =, e wf Far AT W R WA W fwd B e
& AeafE ww
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14.

15.

An excursion trip in a school involvegd
Nandankanan zoological park, Breakfast jg
Identify the state/states which children Visited

(A) Odisha and West Bengal
(B) West Bengal

(C) Odisha

(D) West Bengal and Assam

Series B

a visit to Kalimpong Malda,
ands and Honeymoon islands.

v faure @ Refors s F w0, WeE, Sevar 2w e, dJEEEe 8

q wHrE d A 4 faofia F G o @ w2 E

Female foeticide and female infanticide occur in:
(A) rural areas

(B) urban areas

(C) both urban and rural areas

(D) neither urban nor rural arcas
e syorEen 3R At forg wen wfed o #

(A) T &= H

(B) wEd e &

(C) W8 vq ueir 3 &l A

(D) 7 R e 3k 7 # IEW A A
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‘6. A particle is moving iy Cireul, o B .
half a circle would s ular path of radius (r), The displacemem afer

(A) Zero
(B) =nr

(C) 2r

(D) 2=nr
ﬁmﬁm(ﬂ*ﬁmwﬁmmmﬂlmﬁﬁwm%mm
fawame wm

(A) 7=

(B) nr

(C) 2+

(D) 2nr

7. A goalkeeper in a game of footb

all pulls his hands backwards after holding
the football, shot

at the goal. This cnables the goal keeper to
(A) exert larger force on the football
(B) reduce the force exerted by the football on hands
(C) increase the rate of change of momentum

(D) keep the rate of change of momentum constant

A & AR ¥ FE Mewers A W S 7y I HEAT H U D WqE 3wy
G AT S ® 1 ¥ T e -
(A) Wea™ W 3ftrwm == = umr @

(B) B @ wal W owme e oA @ @ aw we R
(C) ﬂ%ﬂ-frf&nﬁwa?raziq%wm%
(D) FAM-ufads ot = ¥ =rf Tea@ T6 Iwr I 2

11
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pA622Z8A Series B

8.

You are given walt'l._ l“fl‘lﬂltl otl glycerine and kerosene, The medium in
which a ray of light incident obliquely at sume angle would bend the most
will be:

(A) kerosence
(B) water
()  mustard oil

(D) glycerine

TR e, W w Aw, feeafe wan Y Am faay aen @) Fira o A 700
m e facht smafaa wyd v fawm @R s s, an v

(A) fft @1 A=

(B) o
(C) @@ @ A
(D) frsmas

The danger signals installed at the top of tall buildings are red in colour.
These can be easily seen from a distance because among all other colours,

the red hight

(A) is scattered the most by smoke or fog
(B) is scattered the least by smoke or fog
(C) is absorbed the most by smoke or fog

(D) moves fastest in air

S v @ A T T AR @ e e A T 7 AR e R e

W W R, it 3 T A el we W W
(A) qﬁ’waﬁﬁmm‘iﬁmw&ﬁﬁﬁﬁﬁmi
(B) gﬁma‘nﬁmqﬁaﬂuﬁﬁﬂﬂm?
(©) Hﬁ'mﬁﬁmmﬂ”mﬁﬁlﬂﬁm?
(D) ¥ ¥ Hgam wfy A TwA P

12
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Series B

20, Narendra comes acrogy nr
The habitet of the nmmu; :.n.mml having a streamlined and slippery body.
(A) water
() desen
(C)  grassland
(D)) mountain
= A v i Whﬁmm&m’ﬁ%ﬂniWMHn s
(A) T B
(B) #wwrgs
(C) ¥Im#ras
(D) w4 o=
21. A sample of soil is mixed with water and allowed to settle. The clear
supernatant sul‘ulitm turns the pH paper yellowish-orange. The colour of pH
paper to greenish-blue would change due to addition of :
(A) lemon juice
(B) vinegar
() common salt
(D) an antacid
ﬁﬁ%wqﬁﬁmﬁ'ﬁ&m&mmmﬁ%ﬁghmuw
mfwzrétfam:pnwaﬁ'hm-wwéminhahﬁmipnw%maﬁ
A - S A
(A) &7 =
(B) fawam
(C) HURY S3
(D) vw wfases
13
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EA‘gZBA Series B

22, An electric bulb is rated 220V and 100 w When it is operated on 110V
the power consumed will be -

(A) 100 W
(By 75 W
(C) SOW

(D) 25 W

fat favge 792 =0 segwATE 220 V SR 100 W R s gR 110 VW WA FA
¥ 59 TE T ITe wifen A

(A) 100 W
(B) 75 W
(C) 50W

(D) 25 W

'3, Girth of stem increases due to:
(A) apical meristem
(B) lateral meristem
(C) intercalary meristem

(D) wvertical meristem

A offu & wen @ wEm
(A) Tides favrsaiaes

(B) wisd fawrsdas

(C) afde fawsdas

(D) IH fawrEs

EA6228A
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24. The brain is responsible for -

(A) thinking

(B) balancing the bndy

(C) regulating the heart beat

(D) all of the above

(A) a1 & fo

(B) TR & 7 = B fyg

(C) @ === & fau

(D) IT=F o
25.  An example of homologous organs is :

(A) our arm and dog's fore-leg

(B) our teeth and an elephant’s tusks

(C) potato and runners of grass

(D) All of the above

T FAM T IeE B

(A) ¥Q TE T OFH T IR

(B) TR TF [a1 T = =S

(C) I W@ um & Igorad

(D) Iw= o0

15
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EAG6228A Series B

6. T‘wo conducting wires of the SAMe material ang of equal lengths and equal
diameters are first connected in series ang

the samec potential difference, The r
parallel combinations would be -

I then parallel in a circuit across
AN0 of heat produced in series and

(A) 2:1
(B) 1:2
(C) 1:4
(D) 4:1

ammﬁq&m,mﬁmmmiﬁfﬁﬁgﬂwﬁwﬁmm
# 3l fow aEE ¥ e feaew @ S wahe R o ) v qw
TIEEEH WA N Ie=T Fons @ ST B

(A) 2:1

(B) 1:2

(C) 1:4

(D) 4:1 ,
7. The following combination of features would be observed in grass :

(A) parallel venation and fibrous root

(B) parallel venation and tap root

(C) reticulate venation and fibrous root

(D) reticulate venation and tap root

¥ Feafefan et @ feo 2 o @@ 2

(A) T fm-fa=mm sl Ber w2

(B) ®iw fiw-fa=ms 3k w@en =3

(C) Wit =ft fim-fomm@ 3R GRR W3

(D) e ¢ fiw- @ R @ o8

16
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EAG228A

28.  White light consists of

(A) green, blue, viole, red, orange, yellow, indigo

(B) green, blue, violey, pink, orange, yellow, indigo

(C) green, blue, viole, red, orange, yellow, magenta

(D) green, blue, turquoise, red, orange, yellow, indigo

ahe A A B R

(A) w1, e, R, 7w, e, G, S

(B) w, Fen, R, @, @, G, mwa A

(C) w1, Hren, dwi, &, Fwdd, G, A

(D) w0, Hen, fRen, W, WA, e, T e
29. The correct sequence to get cloth is:

(A) fibre-fabric-yarn

(B) fibre-yarn-fabric

(C) fﬂbric-yarn-ﬁhrc-

(D) yarn-fibrg-fagric

gl T & o0 FE WA B

(A) am-ag - g

(B) - - T

(C) a;q'gr-urm—‘m

(D) ST - -

17
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EAG228A NP
30. Chapatis puff up because of

(A) cooking gas

(B) carbon dioxide

(C) water vapour

(D) ozone

A8 @ wEA TR R

(A) @@

(B) @A IE3EEs

(C) el arq

(D) 3=

‘1. The plant which does not have branches is

(A) banana

(3) pumpkin

(C) okra

(D) brinjal
ﬁm‘ﬂﬁaﬁmqﬁﬁﬁt,aﬁ%:
(A) el

(B) wHEed/Fg,

(C) fFell/siea

(D) &=

18
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Series B

32. Deccomposition of vepet
(A) endothermic reaction
(13) exothermic reaction
(C) necutral reaction
(D) hydrophilic reaction
Afesal 1 TIER AT T Fam
(A) T fwm
(B) Fwnerdt fwar am
(C) Jer= fmar =
(D) waq forar =
33. The change that cannot be reversed is
(A) freezing of ice crcam
(B) hardening of cement
(C) opening a cupboard
(D) solidification of butter
qRadT R 3o o aed, 98 B
(A) JTETHRA W A
(B) dT @ FOR B WA
(C) =T F @
(D) ¥e@Ed &1 WAl
19
LA6228A
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atter into compost is an example of
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EAG228A Series B

4. A bar magnet s immersed 1in a heap of gy fillings and pullm] out. The
amount of iron filling chinging 1o the

(A) porth pole 15 much more than the souty pole
(13) north pole is almost equal to the south pole
(C) north pole is much less than the south pole

(D) magnet will be same all along its length

wmwﬁa\i%qﬂ%ﬁﬁwﬁmﬁmﬁ%iuﬁ&%gﬁﬁﬂ%

A
(A) 390 ya A zfaf ga & @@
(B) IA0 ya A zenh ga A wmm TR

-3

(C) 390 ya A zfept ya A agd T

>

(D) Tw o uR et ¥ wwe waE A

5. When the volume of water is cooled to 4 degree centigrade, its volume @

(A) does not change
(B) decreases
(C) 1increases

(D) decreases then increases
aamﬁtﬁamm?éhaﬁmrﬁfﬁgamzﬁﬂﬁmﬁmn%jhamwr
(A) dm & wa ?

(B) &= wen ®

(C) =& ?

(D) wea # fi @ea ®

JA6G228A
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Series B FAG228A

36. Out of the following, 1y} )
is : & the option which does not show water shortage

(A) taps running dry

(B) long queue for EClting water

(C) marches and protegty for demand of water

(D) a family gets three buckets of water per person per day

Feferfees & St faraes e o) ade vt e, o 2 -

(A) 5 A T T B

(B) Wl & fAu wwdlt-welt wan

(C) TRl =t W = Amw Y 3R wEde

(D) ¥& far = wfy =fer sk 99 2w o fee

37. A time interval is not expressed by
(A) a day
(B) a second

(C) time of the first bell in the school

(D) a school period

T A T W I 9 A T R, 9w R
(A) & fe=

(B) U= dwz

(C) fumm ¥ wd w& =1 @

(D) faurm &t v wwemEf (W)

21
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38. The following can never form a circular shadow :

(A) a football

(B) a shoe box
(C) a flat disc

(D) an ice cream cone

7 A el 3eim werd @f =8 79, 9w 2
(A) Redr

(B) & wId @ fRam (d@tEw)

(C) & @aa Iw (fer)

(D) USH IEEH v (F)

39. ‘Every drop counts’ is a slogan related to
(A) counting of drops of any liquid
(B) counting of water drops
(C) importance of water

(D) importance of counting

“R de qEEA B AR w wEY E
(A) fr Rt 7 &t 3@ @ fe
(B) W @ F&@ &

(C) A &1 wEa

(D) firs &1 W=

[§*
2

EA6228A
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Series B EA6228A

40. Il'.yuu happen to go to g desert, the changes you expect to observe in the
urine you excrete would b - d

i. excrete small amoyup of urine

ii. excrete large amount of urine

1. excrete concentrated urine

iv. excrete very dilute urine
The options which hold true would be
(A) 1 and i
(B) ii and iv
(C) 1 and iv
(D) 1 and u
IR ST FEEAT A TS E R ST e § o R ek 0 waen 2,
CR

i wH A WA Iewei

i. 3w w7 { o IEeH

iii. W 3 = I

iv. e 9 W W Ie
o fArsr w @ # 3 B
(A) i R i
(B) ii 3 iv
(C) i 3 iv
(D) i 3 ii

EA6228A PTO.
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EA6228A Series B

41. The sex of the foctus 1s determined by the chromosome of
(A) mother
(B) father
(C) maternal grandfather
(D) paternal uncle
o e F gy w fo fuifa o 2, am @
(A) i
(B) faam
(C) ==
(D) ==/TS
42. While cooking, if the bottom of a vessel is getting blackened on the outside,
it means that:
(A) the food is not cooked completely
(B) there is incomplete combustion of fuel
(C) the fuel is black in colour
(D) there is complete combustion of fuel
mmmﬁmaﬁw%%mmm%mﬁmﬁﬁm EOR
f&:
(A) @ @ e T ¥
(B) o @1 Wt ze =6 g P
(C) ¥ T W @
(D) ¥ w1 wed zew A WP
- 24
EA6228A
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Series B EAG228A

43.

44,

The group which containg only biodegradable items is
(A) grass, flowers ang glass
(B) grass, wood and plagyic

(C)  fruit-pecels, cake and |ime juice

(D) cake, polyester ang grass

forr e & Fawt St et e ¥, # -

(A) ¥&E, 99 3R i

(B) wH, &8 3k wnfes

(C) qm’f%ﬁ‘ma‘.,%asah:ﬁ‘g\mm

(D) @, v sk wm

The Tength of a wooden strip required to frame a photograph of length and
breadth 21 cm and 12 ¢m respectively would be
(A) 66cm

(BY 16cm

(C) 252 cm?

(D) 126cm?

21%@&12%ﬁﬁam#aﬁ%ﬁqwm&q@ﬁm§
PRl

(A) 66 ¥
(B) 16 ¥
(C) 252 ¥
(D) 126 ¥

2
n

EA6228A PT.O.

gcollegeduniag

Scanned by CamScanner



EA6G228A Series B

45 n° 1 as ditisible by 8, i n s
(A) an integer
(B) a natural number

(C) an odd integer

(D) an even integer
ﬂﬁn:—l.ﬁaTﬁﬁ‘ﬂfaﬂﬁ?ﬁ, n BT :
(A) U@ e

(B) U@ WiFd He

(C) uw faw quiw

(D) T&F & Ui

46. If one of the zeroes of the polynomial x’+ax*+bx +c is -1, then the

product of the other two zeroes is:

(A) b-a+1

(B) b-a-1

(C) a-b+ 1

(D) a-b -1

Iz TE9E X+ ax’ bx + ¢ & TF A ~1 7 AU & T A I F IIEEA
‘En"l

(A) b-a+ 1

(B) b-a-1

(C) a-b+1

(D) a-b-1

26
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Series B EAG6228A

47. If 1t was a Sunday op |

Anuary |,
2010 would be -

2006, the day of the week on January 1,

(A) Sunday
(B) Saturday
(C) Friday

(D)  Wednesday

mlmﬁmoaaﬁtfﬂmmﬁnmﬂzmoaﬁmm%{M:
(A) “faaw

(B) wiHar
(C) Ywar
(D) Fuar

48.  In a camp, there is a meal for 120 adults or 200 children. If 150 children

have taken the meal, the number of adults who will be catered to with the
remaining meal is

(A) 20
(B) 30
(Cy 40
(D) 90

ford farfar 3 120 amwe @ 200 7= & foe o= # 1 a2 150 T X TEE R
ﬁﬁﬁgmﬁ'%ﬁaﬁmaﬁmwmwmﬁmmﬁﬁ:

(A) 20
(B) 30
(C) 40
(D) 90

EA6228A RT.O.
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EA6228A Series B

49,

50.

- - ] 0 " ras . - L
increased by 1.5% p.a.every year. If she Pays Rs. 8190 as interest at the
end of 3 ycars, the loan amount would be a

(A) Rs. 36000
(B) Rs. 36400
(C) Rs. 36800

(D) Cannot be determined

ania took a loan at simple inte ‘
: P ¢ interest rate of gy, p.a. in the first year and it

wiAw A 6% WAEd 9w F T =W W v e st T o A O1.5%
ufaad 2t = A 3fa N 5 ) I 3 AT R s N mmm @ w0 F T 8190,
T g WA ITE HW A aE aw e

(A) 36000 %

(B) 36400 %

(C) 36800 %

(D) @ =@ fEww W "

A car covers a distance of 540 km in 9 hours. The speed of a train is double

the speed of the car. The speed of a bike is equal to two- third of the speed
of the train. The distance covered by the bike in § hours would be:

(A) 450 km
(B) 360 km
(C) 400 km
d (D) 500 km

quﬁ'ﬁSADﬁ?ﬁaﬁiﬁmm%awiwnﬁaﬁfﬁwﬁnh%
ﬁgﬁhwﬁrmlfﬁmﬁnﬁmﬁnﬁwﬂ-ﬁmihmm

5 w2 ¥ g @ Z@ A
(A) 450 fa=h
(B) 360 f&=h
(C) 400 fah
(D) 500 &=

EA6228A
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EAG6228A
1. The average marks ip Sa
the marks of three styg,
8 Wers wmic
BGTRR} RIKE 43 59 and Were misread oy 44, 45 and 61 instead of the

(A) 56
(B) 55
{99 I ¥ R
(D) 57

- waﬁwm*#ﬁmﬁm%mmseimﬁﬁﬂﬁmﬁﬁ%
mmﬁaa,s';a’rzmaﬁ’tmm: 44, 45 FR 61 72 7o F = 3 BAw -
(A) 56

(B) 55
(C) 57.5
(D) 57

Netiquette means

(A) socially acceptable ways of playing net-ball in the Victorian era
(B) socially acceptable ways of online or digital usage

(C) the process of preparation for NET examination

(D) eco-friendly ways of using the net to catch fishes across international

maritime boundaries

A e @ st 2 -
(A) Fadfar @ ¥ A 99 Qe @ e 9 4 [Fa S0
(B) Sitaeme o Rfses wam & dmifad | Hga e

(C) +¢ wden &t dar @t wewdl
(D) m&@u@mﬁa}qﬁﬁz%mm&%mﬁﬁa&%
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53. The story “Lihaaf™ is written by :

(A) Ismat Chughtai

(B) Amrita Pritam

(C) Taslima Nasrin

(D) Ali Sardar Jafri

‘faes’ e W o

(A) T=E TS F

(B) 3w WEw F

(C) w@«rn FEaT 3

(D) 3 WER WTRa A

54. The Nobel Prize in Literature 2016 was awarded to Bob Dylan for:
(A) composing poems in English on Children with Special Needs
(3) creating new poetic expressions within the great American song tradition
(C) giving a poetic expression to the works of Shakespeare
(D) a new literary style inspired by the plight of refugees
arg fiew &l 2016 & T &1 A [EER 2 FFR A
(A) Frig srasaaA A A @ fw A § e fe 3
(B) waﬁﬁaﬁﬁam%mﬁﬂwﬁmaﬁwﬁﬁmw%ﬁ
(C) S @ a1 W weE S e w3

(D) TSR @ g @ ¥ M o @ T I
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55 In the plays written by Knll(lu-.

bed as ‘The
Golden Age’, speaking iy Sans

a during the Gupta period ascr
krit language was mostly forbidden for:

(A) traders
(13 shudras
() kings

(D) priests

'Wﬁ{{"'ﬁ?‘ﬁﬂﬁwﬂmﬂmﬁtmhﬁmmﬁmm*
A foa fow sfieriom. fafeg a2 2

(A) =T
(B) 9=
(C) 5m
(D) tfea

Based on the passage given below choose the most appropriate option for
question numbers 56 to 60,

In general, it is better to use too little makeup than too much, The audience should
not be aware that the actor’s face is painted. For the actor who is playing his own
age, the artist uses makeup to strengthen the features, particularly eves and mouth,
and add life-hike colour 1o the face. Character makeup does these things in
addition to transforming the face to another age, another type or another race.
This transformation, particularly for young actors plaving old characters, can be
helped greatly by hats and hairdos. Makeup consists of applying a base colour,
then modelhing the face by highhighting and shadowing (sinking the cheeks, for
example, with a darker colour). Sometimes, modelling is done by applying false
(putty or plastic) noses, enlarged cyebrows, or scars. Lines o suggest wrinkles
are drawn with a dark makeup pencil (brown or maroon, not black) or brush.
Each line 1s highlighted with another line, cither white or a light tint of the base
colour. Lips are outlined and coloured, and a similar colour is apphied 1o the
cheeks. After makeup is complete, powder is applied.

3
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§6.  The artist uses makeup 10 strengthey the features, particularly eyes

and mouth, and 1o add life-like colours 14 (he face of the actor who is

playing .

(A) the lead role

() the old man or woman
(') his own ape

(D) the role of the clown

§7.  Young actors playing old men are helped by artists for:

(A) wigs and moustaches
(B) hats and hairdos
(C) wheel chairs and walking sticks

(D) false noses, enlarged eycbrows or scars

58. The correct sequence for makeup is:

(A) modelling the face by highlighting and shadowing, then applying a

base colour

(B) highlighting and shadowing, then applying a base colour and modelling

the face

(C) applying a base colour. then modelling the face by highlighting and

shadowings

(D) shadowing and modelling, then applying a base colour for

highlighting

‘ad
2
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59, Lines are drawn with
= Makeup pencil or brush to suggest :

(A) Dimples
(B) Wrinkles
(C) Freckles

(D) Pimples

60. Powder is usually applied :

(A) before the makeup
(B) as makeup foundation
(C) after the makeup

(D) during the makeup

Based on the passage given below choose the most appropriate option for

question numbers 61 to 65.

The team for the  (61.)___ of this book found it a challenging task to translate
as defined in the National Curriculum Framework 2005 while

the objectives
would like to share some

preparing this national-level textbook. The writing tcam
d during the process. The child looks at the

environment around her/him ina _ (62.) manner and does not _ (63))
“Hence. it was thought essential that

of the issues that were discusse

any topic into ‘science’ and ‘social science’
within the book, instead of having two disparate

we too aim for this  (64.)
the syllabus itself proposed

sections. Instead of proceeding with lists of ‘topics’,
d and inter-related understanding to develop. An
theme in physical, social and

themes that allows a connecte

attempt has been made in the book to locate every
cultural (65.) critically so that the child can make informed choices.

33
PT.O.

gcollegeduniag

e ——
Scanned by CamScanner

EA6228A



EAG6228A

61.

9

62.

63.

64.

65.

(A)
(3)
(C)

()

(A)
(B)
(C)
(D)

(A)
(B)
(€)
(D)
(A)
(B)
(€)

(D)

(A)
(B)
(&

(D)

development
growth
progress

improve

all-inclusive
whole
holistic

full

sort
compartmentalize

label

group
addition
mixing
solidification

integration

terrain
contexts
circumstances

underpinnings

EA6228A
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# 1 g w3 35 fagreg %Wmmwwammmmh

R - R T T S B R o 9 e, s e e
5?5'3“5Wﬁe“aqa“”maﬁ%a;zdo—suﬁmmmﬁﬁf.mufmmﬂ‘?’-“

WﬂmmamﬁﬁﬁWiﬁﬁ'Mmqﬁmﬁﬁq_mﬁﬁ
TR ST R T T ey mn s w w s o A e w
AR wE X8 WA I5A ¥, o v v e v s do 9w
mﬁ‘uaﬁwm#ﬁﬁﬁwmwm%r&mmnmﬁinmmfm
it 7 ® T S R Y Sewnt B ol e B Ay @ o A A 3 e

fre & arz 30 A ¥ 1 T Y # e v B 2014 A TA P 3 e A
e ATE #1 W  aE W I T a9 5 W e e ¥ e 353 7
®, 3 T FE - FE A a wdh W owm g

66. UFea fam e = wiwe wniws wirad swam # 7
(A) fasmr wivem wrfes wwi W smam @ R gRo B
(B) faog @1 ar = e faadl = wqfe w= @
(C) FoATSE HHEA

(D) 9= G EAEA

67. I TN W qEA I o a4 B ey !
(A) fosmn va we=sEa
(B) fmen =1 we=
(C) foen =1 fawm
(D) faoffai = wgftc

‘i
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68. Frefafer ¥ ] P W WS W 3

69.

70.

(A) FR-mf
(B) IR
(C) w&m

(D) €

Faw 58 T R aE W w7
(A) @ o0 w3 e @ st A oA
(B) = 7 Tt o = ww ow A

(C) =t ¥ F T = A

(D) W ¥ A W IzF wA W

vaee § T 2wl & gfae gu- fawdi W owm e # 7
(A) W s o=

(B) fas= st wrnfee famme

(€) fem= 3k wfim

(D) SIS I I

ﬁéﬁqmmaﬁqﬁqaﬂtmﬁmnﬁua‘imﬁﬁmn

=S wh B st aa A S @ aea wE (71 T T AR T A=
%#ﬁ%m@ﬁnﬁﬁiméqﬁﬁm%wﬁmﬁmﬁwm%w
FRT (72 fAwew | = i = e faaves @ we) fres w5 )
e faraves =m, Mg ot fafEr @ TR W # | 5 e @ e e A
ﬁm%mﬁmwﬁlgvﬁqugam__{?h__‘éﬁa@wgmaai
ifir, A s S | Wl A aE T @ T ey fere T o
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(B)
(C)

(D)

73, (A)
(B)
(C)

(D)

74. (A)
(B)
(€)
(D)

gris %%ggﬁﬁgﬂ TEE.
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75. (A) TS

(B) AT

(C) I

(D) Jefe

76. Five pcrsons. a, b, c,dand e are being compared in weight and height. The
second heaviest person d is the shorte

: St, a 1s the second tallest and shorter
than ¢, who 1s heavier than

a. The heaviest person is the third tallest person.
There is only one person shorter than b in height, who is lighter than ¢ and
a respectively. The third heaviest and the third tallest persons respectively

are :

(A) ca
(B) ¢b
(C) ec
(D) ce

Ui w@feh a, b, ¢, d T ¢ F ATH T FAE F oA F AW @B | THG G299 WA
mﬁ‘-ﬁdﬂa’a?ﬁa‘alumﬁ’gﬂﬂmﬂﬂmc%?ﬁaﬂ,ﬁlﬁa‘aw
® 1w Wl @t s A AW e w ) Faw vw At b A s W 2

R F e 7 0 F vem 1 A e wm gEm O T e 39 E &
¥

(A) ca ol
(B) eb ‘
(C) ec
(D) ce
38
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77. Imraan has five similar Piece
He wants to make one |
a link 1s 2 Rupees angd

S of metal chain, each consisting of three links,

ONE oot . :
Ng chain of these five picces. The cost of opening
welding an open link costs 3 Rupees. The minimum

possible amount he wi have to spe

five picces will be nd 10 get one long chain consisting of
we CCCS .

(A) 20 Rupees

(B) 15 Rupees

(C) I8 Rupees

(D) 14 Rupees

T U T o R v A% R, R v ¥ e et e ¥ 17w
ﬁﬁ%ﬁfﬂﬁmwﬂﬁwmm%twwﬁ@?ﬁﬂﬁ2m
mﬁamﬂﬁ‘ﬁaﬁﬁm(ﬁ“)mw‘i3mm%1maﬁﬁhﬁ
ﬁmwﬂﬁqaﬁ&mm%m%&ﬁ:

(A) 20 ¥9Q
(B) 15 ¥m
(C) 18 T3
(D) 14 T@

Direction (Qs. 78. and 79.) : These questions are based on the following information :

S is sister of b. k is brother of b. k is son of £. £ is married 1o v.yisd

of j. y-has only one daughter, j is married to c. k is brother of d.
ot

aughter
d 1s married

78, tis related to s as
(A) brother-in-law
(B) cousin
(C) sister-in-law
(D) sister
39
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20, If 7 is daughter of t, then b is related 1o 4 ,

(A) can’t be determined

(B) uncle

() father

(M) aunt

Adm (W 78, 3T 79.) : fre  wwr Frfafer S w smiE @

aﬁmilk.hﬂwéiw_fmgahfanﬁumyzi:mgmhy,ja‘nqﬁ
Wxgmink,dmwﬁimmﬁmmﬁ

s, b

i|)rn?rm¢mﬂ’ff?ljuﬂﬁmca‘,
ara g B |

78, fo@ waER ¢ A Tt 2, aw B

79. 'ﬂﬁz,taﬁgﬁﬁ,?ﬁhmm z‘a‘fﬁﬁmi.'ﬂ%:

(A) ﬁu‘iﬁ‘aﬂﬁﬁﬂmm

(B) &
(C) fa=n

(D) 3C
40
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Direction (Qs. 80, ang 81 . FAGL22RA

Cad g
I he l""““‘inu and snswer
ang
i ) X . “‘hn" di\“ |‘|
infrastructure’ s written 4, . e’ iy wy

Ula v '
vm oplt, vy
More divide 1) oan Planming more important’ 15
YN RAD' i written as ‘plocu dm 2w’

In a certain code ‘rural

en as “na ku zu In', ‘pap in rural

written as "ti na ¢cu hy' ang

80 The code *dm® T
11 :

. he piven code Tanguage wang
(A) Than ‘ panticd

(B) cither ‘gap’ or
(C)  Divide
(D) More

' Mmore’

81.  The code for “imfe . .
I'he code for infrastructure’ i the given code language 1s ¢

(A)

(B) na

(C) cither ‘kt* or *vm*

(D) pl

Ao (w91 80. 3R 81.) : A A 7 S o st Te A
fA = W A ‘rural and urban divide' W ‘na ku zu la* e s ®, ‘gap in

rural infrastructure’ @ *kt la vin pl* foman s, urban planning more important’
T 't na cu bu' & S ®, F9 ‘more divide than gap’ @ *pl cu dm zu" form
W ® )

80. € TR W v { W dm’ fowm ol R, ww R
(A) Than
(B) T & ‘gap’ A ‘more’
(C) Divide

(D) More

41
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g & WA T W # infrastructure’ F1 T By .
(A) 2u
(B) na

(C) @ | k" W ‘vm’
(D) pl

Direction (Qs. 82. and 83.) : Read the following and answer.

a starts from point k, which is 8m to the cast of point b. From k, she walks
alks for 5 m. She then takes @ right

from point p. which 1s
he west, takes a right
and stops

Amecen
10m to the north, takes a right turn and then w

turn. walks for 3 m and stops at point m. Aaditya starts
4 m to the north of point b, From point p. he walks Smtot

turn and walks for 3 m. He then takes a right turn and walks for 13m

at point x.

82. The distance between point m and X is:

-

(A) 3m
(B) 10m
(C) 5m _
(D) Ilm

83, The direction in which point k is with respect to point p will be :

(A) Southeast
(B) Northwest
(C) West

(D) Southwest

EA6228A
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ﬁi’m(msz.ahtas.):%@,“i p—_
Rkt =X I A
s fag kA mm%,@ﬁz

b & gy .
T ¥, 2R AE R D sk g5 TR 8RR fag | A aw 10 A TeW A I

| mmmmmmmwﬂ 3 A A
ia&lﬁg:tlwmmﬂ'm@ﬁg p A mtmi_:?:ﬁzha‘.wﬂdﬁ"’

ilfﬂ?,pﬁmﬁﬁ-“ﬁﬂﬁahm%,mwm%maﬁ.m*'m
T AT AR R 3Ry Ry ey 2 3 A7 x W T wm R

§2. fag m 3k fag xTmAT R =R

(A) 33
(B) 109
(C) 5%

(D)

83. fag p @@=t A fag k fm fean 3 2vm, aw 2
(A) =fem od
(B) 3w ufysm
(C) ufsw
(D) =fewor gfysm

Direction (Qs. 84, and 85.) : Two statements are given here which are followed
by two conclusions 1 and 1I. You have to consider the two statements to be
true even 1if they scem to be at variance from commonly known facts. You

have to decide which of the given conclusions, if any, follow from the given
statements,

43
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4. Statements:

All railways are trains. No train is a station, Some stations are platforms,

Conclusions :

I. All trains are railways.

II. No railway is a station.

(A) Only conclusion | follows

(B) Only conclusion II follows

(C) Both conclusion | and conclusion II follow

(D) Neither conclusion I nor conclusion II follows

85. Statements:
All erasers are sharpeners. All sharpeners are pencils. Some pencils are

pens.

Conclusions :
I. No eraser is a pen.
II. All pencils are sharpeners.
(A) Only conclusion I follows
(B) Only conclusion Il follows
(C) Both conclusion I and conclusion II follow

(D) Neither conclusion [ nor conclusion 1I follows

fadm (mm.ahtss.):uafe?wsﬂ?mmi‘(ﬁwﬁ | 3R 1 few o #
mﬁﬁwﬁaﬁwwﬁwm%aﬁamzmaﬂf%ﬁwmﬁ%
A | ST Fvta e 2 o e M0 A @ SR W A o, afz e @, Sy A

2
44
EA6228A

gcollegedunias

Scanned by CamScanner



Series B EAG228A
84, THUA:

mmﬁflﬁiﬁﬁmqﬁhmwwil
ﬁ'@&:

L @0 3 TR ¥

1. o T Ry T P

(A) Fae Fed 1w een R

(B) #aw frewd 11 wmp dn @

(C) Fewmd 1 a Perd 1 27 am ¥ ¥

(D) 7 A Fewd | 7 & Fed 1 oW we R

RS. YA :
T Tor W § 1w i AR ) e fem
farend
I wrE W U= A ®
. &9 s iR ©
(A) @as Fed | @m o ?
(B) @aw fred 11 =m #n @
(C) frwwd | 7 foed 11 29 @R BROE

(D) = = fred | 3 & fed 1 @6 PR

45
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Direction (Q%- 85. %o 88:):: In. the following questions, choose the correct
ﬂ“crﬂﬂli\'c from the gi\'cll upli(ms and fill in the blanks to cn")plc]c the

sSerics !

86. a cdd —_ bed ___ abe

dab

(A) baddec
(B) abdde
(C) badcd

(D) bdadc

87. 3,12, 27, 48,75, 108, .
(A) 141
(B) 143
(C) 145

(D) 147

88. elfa, glha, ilja, —— mina
(A) olpa
(B) klma
(C) lma
(D) klla = "

46
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fdm (v ss.ahtss.)zﬁnﬁqm,ﬁimmﬁ % A fren e A WA
famrea IFT A #fEE W AR R

86. a —_cdd —_bed __ ahe _ dab

(A) baddc
(B abddc
(C) badcd

(D) bdadc

87. 3,12, 27, 48, 75, 108, ___.
(A) 141

(B) 143

(D) 147

88. elfa, glha, ilja, , mlna

(A) olpa
(B) klma
(C) llma

(D) klla

47
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89. Four airplancs a. b, ¢ and d of the Air Force started for a flight demonstration
towards cast. After flying 50 km, planes 3 and d flew towards right, planes
b and ¢ flew towards left. After 50 km, planes b and ¢ flew towards their
left, plancs a and d also flew towards their lefi. The directions in which
the airplanes a, b, d and ¢ are respectively flying now will be:

(A) North, South, East, West

(B) South, North, West, East

(C) East, West, East, West

(D) East, West, West, East

A ® TR TAE TETA a, b, ¢ A1 d T [ B ¥ 37w weww qF @) 50
fr. 3% & W2 warE WA a A d ¥ T SR I WA, waArE e b T ¢ A
aﬁﬁmwﬁnwmimbamcﬁsoﬁ.ﬁ%mmﬁfaﬁ?m
Wi 79T TaTE TR a 3 d X 0 A 3R I3 W | adae # ward ST a, b, d
3R ¢ . e B W Sz ow @ #, 9w anl

(A) I, =fam, o, wfiaw

(B) zfem, 3w, ufrwm, @

(C) wd, uftwm, g4, wfFm

(D) T&’ qﬁmr qﬁaﬂ’ ﬁ

90. The country which won the T20 Blind Cricket World Cup in 2017 is
(M New Zealand
(B) Pakistan
(C) Sri Lanka
(D) India

2017iazomﬁ?ﬁmmmﬁmhi:

(A) =Ttz
(B) i
(C) sitam
(D) wWR=

48
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“ollowing 1s an ex; & [T
91. Following nexample of discrimination in the context of schools :
(A) Any student can yge any language
b " I

(B)

- as a medium of examination
Different students like different

I subjects but their performance in
examination is not the o

ame
(C) Students with more m

competition than tho

(D) Any student can follow any religion and sit next to a child following
a different religion

e @ A W WaTE e Rt

(A) T 23 & v @ G e fe W W ay swdm @ aEE A
2

(B) ﬁﬁaﬁmﬁﬁﬁmyﬁqﬁfaﬁmmiﬁammwﬂmﬁ
U THE FE B P

(C) Jfw 3w we o= o fauffd ) =9 5w W =y o Ay
F g A wmw iR ¥ sfvw W R s @

(D) ﬁﬁmmtﬁuﬁaﬁwm/ﬁiaﬁ(ﬁﬁﬁmuﬁiﬁ
T4 gt Tt & =w ¥ ¥ wEasS @

arks are given extra time to speak in an elocution
s¢ with less marks

92, The feat of 100 percent segregation of waste at source across households
and cstablishments has been achieved for the first time in 2017 by the city
(A)  Thiruvananthpuram
(B) Tirunelveli
(C)  Tirupati
(D) Tiruchirapalli
T 3R TER A Frae A w2 W A A B 100 WETE SR - 3 A S
FA GE AR 2017 N A A TR T AW P
(A) Trasags
(B) fam==ash
(C) fowufa
(D) faefrme=h
49
EA6228A

PT.O.

gcollegeduniag

Scanned by CamScanner



EAG228A Series B

91,  The author of *Annthilation of Caste* in

(A)
(B)
()

|[\|

Narendra Jadhavy
B.R Ambedkar
MK Gandin

Ajay Navana

‘offrAna Sw wrr W Feww ¥

(A) Wz Fnm

(B
1)

(D)

R 3 sedTET
va & T,
wdg waRE

94.  As a teacher the most appropriate meaning of a gender neutral classtoom

would be

(A)
(B)
(C)

(D

o

(A)
(B)
(C)

(D)

domination of girls over boys
domination of boys over girls
equality between girls and boys

cquity between all genders
/&ﬁww-d‘:wiwﬁn-mﬁﬁmmmﬂmﬁﬁm;
wfed w W W

s w FEEE WO

@ 3 wfEd ® A e

Wi T ® fw g
s0
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93. .{\CC(\HI!N}: to the "Rights of Persons with Disabilities Act, 20167, the
followiny 15 not categorized a4 a disability -

{AY dwarlism

(B) leprosy cured

(C) c¢hild abuse

(D) acid attack victims

‘w2 sfimm sfafqo e :
ey , 2016° W AR fremm ot wfr ¥ feafatar

(A) e

(B) = -3varfta

(C) == ¥ime

(D) ufar = & ffem

96, Turks brought the following to India :

1. Salwar Kameez

1. Polato

i, Kachori

iv. Dhon

(A) 111 and v

(B) 1 and i

(C) n and v

(D) u and it

i, #Eaw s
n. 9

ST !

v, R

(A) iii 3@ iy
(B) i 3 iii

(C) ii 3 v
(D) i1 3 i

EA6228A PTO.
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97  Following was not possible for the Rajpuy Kings under Akbar’s Rule :

(A
1)
(€
(M

Practice their own religion
Rise to high positions in Mughal services
Strengthen their forts without permission
\13'1”} without permission

FEE T WET R WAy s o fau fresfaferm wa wi w@

(A)
(B)
(C)
(D)

WA AMW @ 3R v omfam ww
fen sEfa & s fa = w9Ta T

0% The considerations of the Indian states while choosing strategic places 10
buitld a fort against the East India Company were

1.

in.
1.
"

(A)
(3)
(C)
(D)

bestde a river so that while the enemy s strugghing to Cross the river,
there 1s time to attack them.

on a hill top. so onc can see the approaching enemy attack.

in o dense forest where the enemy could not access with its cannons.
an the coast of seashore, because the enemy can be spotted far out in
the open s¢a.

Only 1+ and 1 are correct

Only 1. 1 and iv are correct

Only 1+ and n are correct

Only t, 1 and iv are correct

Wﬂﬁmiqmm&mﬁmﬁﬁmMﬁfmm
mﬁ‘ﬁﬁmﬁfﬁawﬁms.mmm,ii;

1
1.
it
v,

qﬁ&ﬁﬂﬁmmwﬁwuﬁn&w*aﬂﬁmm

srEe e an wwa e T
Wﬁﬁﬁtﬁmaﬁmmmﬁgﬂ#ﬁmﬁi!mwa%
B . B I L SR
W&'ﬁmﬂﬁ%ﬁmﬂaﬁqﬁwizgﬁﬂMWmt

(A) ®am i S i w0
By Bam i, i d v w@E

()

PRI TR0

(D) F= i, i st iv ®wA %
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99 The following Matemeny
S tr .
mn India He N the conteyy of social history of clothing

(A) Western style ¢log

hing was
a5 ontroduced 1o 1 ' ’
Battle of Plasse i o

v

(B) Gandhi decided th

polinical statement.
shaved as

at dressing ‘unsuityhly
He dressed in g lungi a

asign of mourning to
coal minery

Was a more powerful
W kurta with his head
protest againsy the shooting of Indian

(C) Chang

€5 10 Women'y clothing came about as a result of the two world
wars,

45 women started wearing bright coloured clothes and
omamentation was encouraged

(D) In 1920 Gandh; adopted western style clothing as a mark of protest
against Chauri Chaura incident

ﬁmﬁhammﬁ'mtmm&#ﬁimi-

(A) sfas wfemsd = wvar ol @ ofos @ e SR @ g@ w
urR wAam T

(B) W F ww fewm f& ‘sww aw o v wfer awafaw
wus ¥ I om0 S e weeEd A wAe % W ey faw
Fearge A wiaE wer A adw e W mfE wms w fadu

form

(C) wﬁmsﬁi&w@iqﬁ'ﬁ?ﬂfaﬂ@mmm,\mm,ﬁf
I T aw wed W fER omw @A-wem W denfes fa

Ta
(D) 1920 F W vz & AW A MR J wrwm AAE B awd A
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FEAG2IRA Series B

100. Temples in carly Indian history representeq -
(A) demonstration of power and resources by rulers
(B) sites of peace which were never attacked

(C) hubs for intermingling for all castes and classes

(D) peripheral sites away from nuclel of settlements

ey soritn yiawm & wfer oafa @ -

(A} maw) pn wies s wwud w1 weRA
(p) Wit & wm ot ol seem G g
(C) W wind s owl @ e fasm @ w2

(D) wd & w9 @ @ feew
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